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WS A& Dt 19,200,734 25,830,647 A6,629,913
Xl 20,000
Al 19,180,734
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Xl 20,000
Al 19,180,734
WEXNSI AXNAL (LEAE) 1,105,976 1,092,326 13,650
MSI KA = 603,780 603, 780 0
401 AIEHI L 20 603,780 603, 780 0
01 A& HI 600,000 600,000 0
OdsIl RAE= 1,200,000& *5009H 2~ 600,000
03 AlE 2 THHI 3,780 3,780 0
Od3Il RAE= 600,000,000& *0.63% 3,780
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01 A& HI 300,000 300,000 0
Od=zJl #X s 300,000
— &SI 4X 40,000,000 *6H 2~ 240,000
— &8s X85 & 10,000,000 64 2 60,000
03 Al S HHI 2,160 2,160 0
OdsIl X s 300,000,000& *0.72% 2,160
SO AIZE EAIDI X 20,000 20,000 0
401 Al HI K 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
O&HAIZE EAIDI X & E=
400,000& «50CH 20,000
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01 A& Bl 30,000 30,000 0
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02 =224l 147,036 133,386 13,650
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KX 2] 3,000 3,000 0
201 L2l 3,000 3,000 0
02 =224l 3,000 3,000 0
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CHEAN SN2+ 1,006,300 1,006,300 0
401 Al HI K 201 I 1,006,300 1,006,300 0
01 A& Bl 1,000,000 1,000,000 0
OLHEAN SN2+ 2,500,000 *400km 1,000,000
03 A& S THHI 6,300 6,300 0
OLHEAN RXNE+ 1,000,000,000& *0.63% 6,300
WEMA AL (WS AHY) 946,912 1,194,540 A 247,628
Xl 20,000
Al 926,912
DSHEEINH SN2 302,160 302,160 0
401 AIEHI L 201 302,160 302, 160 0
01 A& HI 300,000 300,000 0
OunsetdEXE S 300,000
- DEGFENE RX2%
200,000& *1,000H £ 200,000
—FEXNSANRYE nSHIEEXNE FAE=
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03 AlE 2 THHI 2,160 2,160 0
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300,000,000& *0.72% 2,160
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03 Al 2 THHI 2,880 2,160 720
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400,000,000& *0.72% 2,880
Helol, e85y JHE A 201,440 102,735 98,705
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01 A& Hl 200,000 102,000 98,000
O0eol B39 A 200,000, 000& 200,000
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O0eol 2579 e AY
200,000,000& *0.72% 1,440
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Xl 20,000
Al 20,432
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X 20,000
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01 A& HI 40,000 0 40,000
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ONeol2s7Y LAY 40,000,000& 40,000
Xl 20,000
Al 20,000
03 Al S HHI 432 0 432
ONeolEsa4Y HEAY
40,000, 000& *1.08% 432
WEMH NEAS (LEAY) 304,660 233,940 70,720
Qs & FIANSXN7E XA 500 500 0
201 Lt 500 500 0
01 At 2t 2l 500 500 0
OUYEH U =/X XY LS Al
500& 50 20+ 2+ 500
WsSANEE X & BEx3A 304,160 233,440 70,720
203 YR =&l 2,000 2,000 0
03 A F=XH R =AY 2,000 2,000 0
OunsSAN&E 22 g2F2 2,000,000& 2,000
401 Al HIZ 201 8] 302,160 201,440 100,720
01 A& HI 300,000 200,000 100,000
OunsAlEE X & 2+Z2A 300,000,000 300,000
03 Al 2 THHI 2,160 1,440 720
ONSANEE EX & E=ZA
300,000,000& *0.72% 2,160
Helst DEMA 22 (S AY) 435,111 535,352 A 100, 241
HABAl 528 £33 2 |X2e 435,111 535,352 A 100, 241
401 AIEBIZ 28I 435,111 535,352 2100, 241
01 A& HI 432,000 532,000 100,000
OHA BAl s2& &X 432,000
—HA A SZE EX 300,000, 000& 300,000
—HA A 23 |X2e
750,000 *80H £ 60,000
—HA A ST BA
40,000% *33] *6004 2 72,000
03 Al S HHI 3,111 3,352 A 241
OHA EAl S2E ZXI 432,000,000& %0.72% 3,111
SEFUNE2Y S (LSAMY) 14,111,692 13,035,117 1,076,575
SSFE A& 14,111,692 13,035,117 1,076,575
404 SASHNHEHES 14,111,692 0 14,111,692
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OAE el =AY &AL
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SEFUHE HE (RS AHY) 448,183 1,132,472 A 684,289
= AANEH EY 24,704 24,704 0
401 AIEHI L 2CHEI 24,704 24,704 0
01 A& Bl 24,704 24,704 0
S2dl 2 A 24,704
— 38tk & FEl 700,000& 202 X 14,000
— S8tk & &bl 240,000,000& =4 .46% 10,704
SeX 28 FIE ZEAY 241,728 241,728 0
401 Al HI K 201 I 241,728 241,728 0
01 A& HI 240,000 240,000 0
OZENEEFINE ZLHAY
1,200,000& 200 240,000
03 Al 2 THHI 1,728 1,728 0
OZ3SHNEEFIHE ZEAMY
240,000,000& *0.72% 1,728
HNERRLPSE KE 1,000 1,000 0
201 Let249] 1,000 1,000 0
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OHFXRE7Y XE 42X At
5003 «1002 x20~ 2+ 1,000
QAFXE U= 180,751 0 180,751
201 Let2d] 180,751 0 180,751
01 At 22l 180,751 0 180,751
OAMNF=XE SUHE XN 180,751
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O3S FxE AME & FX2el R
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01 A& HI 636,400 300,000 336,400
OZEFXE KA 2el3A 300,000, 000& 300,000
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= XX & Bt 2,462,955 1,880,460 582,495
Helst wnssgd &4 2,023,865 1,481,720 542,145
Hels NEMA 2E(SAY) 288,730 231,016 57,714
SYHFEXNHECCTY A5 175,000 231,016 256,016
401 Al HIZ 2018 175,000 231,016 A 56,016
01 A& HI 175,000 225,600 A 50,600
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=HFIX Z2ALE 25 21,000 0 21,000
405 RHoHF S HI 21,000 0 21,000
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405 KtabH S| 70,730 0 70,730
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ES=PN 1,000, 000& *5CH 5,000
— Xt = XAl 4,500
EnS=-DN; 50,000& «10CH 500
ESx=DN} 800,000& =5CH 4,000
OSExtg Syl 63,000
— A= 250,000& =150 = 12& 45,000
— =2/t 1,200,000& =15CH 18,000
OS=2d| 424 6,000,000 6,000
OFHHAZAAE R E H|
200,000 9t = 12& 21,600
OHx2 HEE <L PDA SAlE 13,380
— PDA 15,000 x13CH x12& 2,340
—SHEE 60,000& «12CH x12& 8,640




M =X E
M Hols NEST XM
¢el: FXUSSMA(LEALY) (Sl & &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 0lsSACCTVEAEEY S8 =
40,000& 501 =128 2,400
OfERZ 853,200
—-sJ<H 1,930& +30,0004 x12& 694,800
—oteH 330% 40,0002 x12& 158,400
202 044l 48,480 29,760 18,720
01 = LH o4 1l 48,480 29,760 18,720
OFdxts 323 Nes 6l
10,0003 x28H x8U « 123 26,880
OFZ Xt AZPEE R IIH ol
10,0003 x9H 20U « 123 21,600
203 YR =&l 2,000 0 2,000
03 AIBZ=XH =AY 2,000 0 2,000
OFExts R=A 2,000,000 2,000
401 AIEHI L 2 CHYI 26,400 0 26,400
01 A& HI 26,400 0 26,400
OE=0l = -3XsK HEAE &X 26,400
—d01s.d328 dEF=SNEHX S
66,0002 100K 6,600
— &S 545 423 HEF=SXNMEHIA
66,0002 1004 6,600
~52E,235 YHSNMENY
66,0002 1004 6,600
—Uts AANES U3E2s HE=SNHEHA
66,0002 1004 6,600
405 XH&HF S HI 211,750 0 211,750
01 AL ESFH S 211,750 0 211,750
OFdE NSTSAIAE SMSHHIA AIAR 2
= 124,750,000& 124,750
OFXeExg 2 30,000,000% = 1CH 30,000
OXNSEM =HF=FIHSEE Jtbllet 2 ¢
35,000,000 = 1CH 35,000
OFX=E POA ¢ 1,500,000& = 13CH 19,500
OFX I8 ottt 7 &
250,000 = 10CH 2,500
DS 2UE> 87,668 383,036 A 295,368
201 2et24d] 83,348 381,836 A 298,488
01 At 2teltl 49,448 25,800 23,648
OZed |l 9,600
—ZEH ¥ &Y 400,000 x4 Z 33| 4,800
— =D HI EH ¥ £
400,000 =124 4,800
OJIMHAMMNE =2 80& 11,3002 128 10,848




2N XN
M Helst nESE X4
Sl EXNSHNL (DS M) CERED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
okdlEte = =2 500,000,000 x3/100 15,000
OUg&d S8 1,000& 3,200 3,200
O™ FAEX A= A= 10,800
— 2AI2F Ol W 70,0003 *3Y x33| x12& 7,560
—2AI2 =1t 30,000& *3Y »33| x12& 3,240
02 33294l 33,900 356,036 N322,136
OXHlI$2lH (REEED, DT IgD|)
450,000& *23| 900
OFEXAL T )8 A2 4H|
2,750,000& x12& 33,000
202 04d| 4,320 1,200 3,120
01 2L Y| 4,320 1,200 3,120
OUMEis Mg 2el AMZEE ™M IIM ¢yl
10,000& *3H x 12 x12& 4,320
HHESHALH (=X =) 424,090 391,440 32,650
QI SAH (WEAMY) 424,090 391,440 32,650
oled 2A | 424,090 218,791 205,299
101 @1 21| 424,090 218,791 205,299
02 JIEA 2 %= 327,784 171,757 156,027
OF XSS AN HLINN SFF> 1A 216,766
- JI23((0t3) 1,533,000& x9H ~12& 165,564
—JIEx¢ 60,000& x9H 128 6,480
— NESHIEXE 450,000 »3H 43| 5,400
— X2 EXHl 105,000 x35/40A 2t +9H x12€ 9,923
— HHZAYH| 130,000& x9H »12& 14,040
— A2 A
1,533,000 *84%*86%*1/30%1/7+92 56 Al 2+ 2,658
—x2U2R 4,200 x9H x28 Al 2tx 128 12,701
OFEXES ANAESEHLIH SR B8 22,244
— =043 216,766,000 *45/1,000 9,755
—H2LdEE 216,766,000& x30.6/1,000 6,634
— Lo )RAEE 6,634,000 *65.5/1,000 435
- 11888 216,766,0002 «15/1,000 3,252
—MUHES 216,766,000 *10/1,000 2,168
Oy e AZAESEMAINH SR o
alsll 80,511
- J23((0t3) 1,825,950 x3H 128 65,735
—JIExx¢ 60,000& *3H x12& 2,160
— A 3B XY 105,000 *35/40%x3H « 128 3,308
— I AH| 130,000& *x3H x12& 4,680




2Md: =N
M HER2GFU(FUHA )
chol: ol 2l (REAY) (sl &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— Gt E A
1,825,950 *84%*86%+1/30%1/7+3 % x56 Al 2+ 1,056
—=U2FRE 4,9603 «20 Al 2t+3H x 128 3,572
ONEHE N 2el AIEEHUINH S2F &
= 8,263
—=32%3 80,511,000& *45/1,000 3,623
—d22E 80,511,000 *30.6/1,000 2,464
— LI QAEE 2,464,000 *65.5/1,000 162
—&HEE 80,511,000& *10/1,000 806
—1E2E 80,511,000& *15/1,000 1,208
03 RIAHAZZ2TE = 96,306 47,034 49,272
OFF Xt SRA Q2| 86,343
—Jlas
2,578,600 x 18 x 128 +2,455,240x 14« 12& 60,407
eV
1,289,300& x 1% *23| +1,227,620& *1H »23| 5,034
— GotE &l
96,3202+ 12+ 102 +91,920%! + 12 %102 1,883
—NL2RLY
8,060& » 1 *x33A 2t+ 128 +17, 2403 1% 33 13,979
A2tx123
—JE=E 80,000 x2H 123 1,920
— dA g A 130,000 »2H «12& 3,120
OFFXts ZRE B 8,863
— =38z 86,343,000% *45/1,000 3,886
—Ad22E 86,343,000& *30.6/1,000 2,643
—LoNMIQLAYBE 2,643,000&*65.5/1,000 174
—MNEE 86,343,000 *10/1,000 864
—1E2E 86,343,000& *15/1,000 1,296
OFZxts Z2R2A 1=l 1,000
—28E 200,000 »2H 400
— get=s 200,000& »x2H 400
- 253 100, 000& »2H 200
OFEXts SRA MSEA
50,0003 x2H 13| 100
HRES (XA Z D) 15,000 7,300 7,700
EHNUE(DEAY) 15,000 7,300 7,700
gtet= 15,000 800 14,200
802 Bt 2 Il &t 15,000 800 14,200
03 tegas 15,000 800 14,200




M =X E
I WRES(FIUXZW)
¢el: EMAE(LEMY) (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-/
the 1y 823

3,000,000,000& *0.5/100

15,000




